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tanx

1L Iff(z) = ——— and f'(a) = 0,0 < a < 27, thena = %A
/(@) 1—|rsecar:a f'a) =a=en -
101
2. Find ST (cosx) = —sinx
3. If y = cos(sin(tanz)), then 4’ = — sin(sin(tan z)) cos(tan =) sec? =

4. If f(z) + z*cos f(x) = z, then f/(0) = _1

5. Ify = 6>sech, then dy = [36? sech + 6> sec H tan 6] df L BAIR B HdrH A«
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1.

10.

: . dy
. Lety = xsinx. Find (a) —, (b)

Find (a) 1i tan 2z oli sin 3x
m ——— m —-—————-.
ind (a) =0 T ( )a:—>0 513 — 4x

1
. Differentiate (a) y = (x3 — 1)100 by = sin’ (—)
9h

If tan (y) =1z 4y, findy
x

. Find an equation of the tangent line to the curve 22 — 2y — y°> = 1 at (2,1).

@If F(z) = f(g(x)), where f(5) = 2, f(2) = 1, ['(5) = 2,9(3) = 5,4'(3) = 2
Find F”(3).

(b)Ifh(x) = /2 + 2f(x), where f(1) = 7and f'(1) = 2. Find '(1).

s
If y = tan x, (a) find the differential dy and (b) evaluate dy given x = 1 and dr = —0.1.

. Use a linear approximation (or differential) to estimate 1/99.5.

d2 d4 d35
4 (©) gy and (d) W;é

dx dz2’ " dat

. Find the critical numbers of f(z): (a) f(2) = |3 — 2z|  ®)f(x) = 2°(x — 4)2.

Find the absolute maximum and absolute minimum values of f(¢) = (#> — 4)3 on [—2, 3].
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A5 g x R
1| (a)2, @)—g 2.5 — ¥ 4 51, 53°
2 | () 100(z* — 1) - 342, ag2gn@qcoq—)-i§ 95 — B4 3, ¥ 4T 34°
4 y—1:2@—2) 2.6 — ¥ 3£ 29
5 (@P@%A,(@Mm_% 2.5 — ¥ 41 63", 64°
6 | (a)dy=sec’rvdx, (b)dy=—0.2 2.9 ¥ 4219
7 9.975 2.9 — ¥ 47 347
8 | (a) sinx +xcosz, (b)2cosxz—xsinz, (c)—4cosx + xsinz, 2.4 — % {8 627
(d) — 35sinz — zcosx
9 | (a) x = 2 is a critical number,
(b) f'(x) =0 = x =4 and z = £ are critical numbers, 31— ¥ 441
f'(z) * % % = x = 0 s a critical number.
10 | f(0) = —64 is absolute min. , f(3) = 125 is absolute max. 3.1— % 4854
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